+

Prog ression in Addition

Using pictures and objects

3

A T

Use Numicon to
see the number
increase in size

4 bears add two bears equals 6 bears 2 + = 7
jsssseses s + COCO _ 0000088888 0
I know that’s 10 count on
11,12, 13, 14
© put it in my
head
10 add 4 more is 14
Recording your number work and using known facts
0 g 20
“I know that 10 — 9
=1509+1=10" + =

At this stage children begin to use the

symbols + and =

Using tracks, marked number lines and empty number lines

f\: =5 2 bears add 3 15+8=23
. ¢ ' more is 5 ....... \“/ /_5\/%\
I24=68 5 + k=9 15 20 23
+2 :
~y Empty number line
Number track A+ O+t +—++—++++1>
7-6-5-4 3-2-101 23 4 5 6

Marked number line

Expanded written method

47 + 76 =
47+76\
/1N
40+7 + 7 +7

11% /3

=123

)

Expanded column method

47
+76
110
13
123

OR

(Tens first)

(Units first)

Compact written method

366
+ 458
824

2,456,179
+ 4,264,232

11

6,720,4

1

1

124.90
+ 7.25
132.15




Progression in Subtraction

Using pictures and objects

There are 6 balloons and 2 pop, how many are
left? ><><QQ

Which line has the most? How many more?

©OO0OO0OO
©0O0O

Recording your number work and using known facts

93 -76

“I know that 9 + 1 =
10s010-1=9”

So93-76 =17

Jumps on a number line

M

It's easier to work out 93 — 73, that’s 20
Then I need to count back 3 more so I've taken 76 away, that’s 17

I & 7fglo 107111213 14151617 18 19 20

20 -

At this stage children
begin to use the symbols

-and =

12=38

Using tracks, marked number lines and empty number lines

22

22 -3 =19 22-19=3
3 ?
-~ -2 A0 32
/“é\/ﬁ ﬁ\/}‘\ Bar models are used to solve
19 20 22 19 0 22 missing number problems
or
Work this way and count back Work this way and count up 2 2 - = 3
Expanded written methods
Counting up 74 — 27 ]hw:gn;:‘r;sund Inee«;r:;‘rke ones, [ now h;\:‘elzktzensund
74 60 + 14 6 14 Rt e M oo barae
_ 27 and 5 ones,
3 o3 |mmp | 70+4  70+4 74 T T
40 (9 70) - 20 + 7 = 20 + 7 - 27 SRICID
4 (74 o Elege
47 40 +7 47 EEE : EE R
Counting up Regrouping 2lens dones =28
Compact written method
419 - 297 2410-482 . .
- 482
-297
— - 1928
122




X Progression in Multiplication X

Us'mg pictures and objects

V) IR ) ) N )
15 20 25
Lmﬂ(xlfﬂ:' :-’:C‘:‘:If:lmﬁ 10000C J“H;ﬁm
R ) B

Make the queue twice as long

P P EN s i EN
B i) i i) 3 lots of 2 is the same as 2 lots of 3

2+2+2) = B+3)

i ) ) S

Recording your number work and using known facts

Mental multiplication using partitioning:

“I know that
double 5 is 10.” Place value counters /4<43 =
10 _ _
What is the value of six 10x3 3\0\A 4 jy2
2p coins? 10 s
12 10
2[2[2]2]2]2 14x3

Using tracks, marked number lines and empty number lines

3x2=6 3|otsof?2 12 x5 7x18
1 x5
3 “'h‘ 40 4L 42 43 44 45 46 47 48 40 50 51 52 53 54 55 56 &7 58 59 60
|§ X 9 T |G : X FI
2 4 ‘HW? Partition and use number line
10x5=50 and 2x5=10 70 + 56 = 126
Number track Marked number line Empty number line
Grid method Expanded method Place value counters
24 x 6
38x7 38 x7 oo
r L._I I.l
X |30 |8 ‘ 30+8 b0 900®
X 7 441
A .|l we
Links to 210 (B30x7=210) 00 0O00®
7 210156 56 (8 x 7 =56) WO 1T 1 1 |
266 CEGEE T T T ]
Short multiplication Long multiplication
24 »x 6 becomes 2741 % 6 becomes l 24 x 16 becomes 124 x 26 becomes
2 1 2
2 4 1 2 4
5 2 7 41 x 1 6 x 26
£l 6 x 6 2 40 7 4 4
1 4 4 16 4 4 6 Leads to 14 4 24 80
3 7 3 3 8 4 32 2 4
1 1
Answer: 144 Answer: 16 446 Answer: 384 Answer: 3224




Progression in Division

Us'mg pictures and objects

How many cars can you make if you have 8 wheels?

DODD
DO

If we cut the cake in 2
how many pieces will
there be?

Put the same number of
bears in each house.

Recording your number work and using known facts

24 - 4

4b+4+4+4+4+4=24

Share 12 sweets between

4 people

How many groups

of 4 in 127

12 = 4
Answer: 24 - 4 =6 0 @ 12
L] & |4
Using tracks, marked number lines and empty number lines
48:6 =8 -

66666666

12 18 24 30 36 42

CEEEEEE

How many 6's have been subtracted?

That means, there are 8 sixes in 48!

Repeated subtraction

78 -6=13

Using tables facts

Expanded written method - Chunk'mg
72 - 5 196
60
136
72 6o
- 50 (10x5) 76
22 60
- 20 4x5) 1
2 Answer: 14 remainder 2 4

196 -

(10 x 6)

(10x 6)

(10 x 6)

2 x6)

6

Answer: 32 remainder 4

Short division

98 -~ 7 becomes 432 + 5 becomes

1 4 8 6 r2

e 3
7,9 8 5/ 4 3 2
Answer: 14

Answer: 86 remainder 2

Long division

Place value counters

gl

Leads to

=W

i

N WD WN

432 + 15 becomes

riz

M O NO N o

2

afo2

Ly T )
L1 n}

92+4

2

oW

{nn







